

On an Identity for Stirling Numbers

¹A. Lucas-Bravo, ²J. López-Bonilla and ²S. Vidal-Beltrán

¹UPIITA, Instituto Politécnico Nacional, Av. IPN 2580,
 Col. Barrio la Laguna 07340, CDMX, México

²ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We show that certain identity for Stirling numbers of the second kind coincides with an identity obtained by Roman and we give an alternative proof for it.

Key words: Stirling numbers

INTRODUCTION

In the Web we find the following identity [1]:

$$Q = \sum_{j=k}^n (-1)^{n-j} \binom{n}{j-1} S_j^{[k]} = k S_n^{[k]}, \quad (1)$$

involving the Stirling numbers of the second kind [2, 3]. Here we wish to point out that (1) is precisely the identity obtained by Roman [4]:

$$\sum_{j=1}^{n+1} (-1)^{n-j+1} \binom{n}{j-1} S_j^{[k]} = S_n^{[k-1]}. \quad (2)$$

In fact, we may remember the recurrence relation [2]:

$$S_{n+1}^{[k]} = S_n^{[k-1]} + k S_n^{[k]}, \quad (3)$$

then from (2) and (3):

$$-\sum_{j=k}^n (-1)^{n-j} \binom{n}{j-1} S_j^{[k]} + S_{n+1}^{[k]} = S_{n+1}^{[k]} - k S_n^{[k]},$$

which implies (1), q.e.d.

We can give an alternative proof for the identity (1) via the known Euler's expression [2]:

$$S_j^{[k]} = \frac{(-1)^k k}{k!} \sum_{r=0}^k (-1)^r \binom{k}{r} r^j, \quad (4)$$

then Q acquires the form:

$$Q = \frac{(-1)^k}{k!} \sum_{r=0}^k (-1)^r \binom{k}{r} R \quad \text{such that} \quad R \equiv (-1)^n \sum_{j=1}^n (-1)^j \binom{n}{j-1} r^j, \quad (5)$$

but is immediate see that $R = r[r^n - (r-1)^n]$, hence:

$$Q = S_{n+1}^{[k]} - \frac{(-1)^{k-1}}{(k-1)!} \sum_{t=0}^{k-1} (-1)^t \binom{k-1}{t} t^n \stackrel{(4)}{=} S_{n+1}^{[k]} - S_n^{[k-1]} \stackrel{(3)}{=} k S_n^{[k]}, \quad \text{q.e.d.}$$

On the other hand, in [5] is the property:

$$\sum_{r=k}^n r S_n^{[r]} S_r^{[k]} = (-1)^{n+k+1} (n-k-1)! \geq \binom{n}{k-1}, \quad 1 \leq 1+k \leq n, \quad (6)$$

which was proposed by arithmetical experimentation, but we do not know the corresponding proof. This identity (6) is similar to the Akiyama-Tanigawa's relation [6, 7]:

$$\sum_{r=k}^n r S_n^{[r]} S_r^{(k)} = (-1)^{n+k} \binom{n}{k-1}, \quad 0 \leq k \leq n, \quad (7)$$

REFERENCES

1. <https://mathoverflow.net/questions/287788/proof-of-identity-involving-stirling-numbers-of-the-second-kind>
2. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore.
3. Barrera-Figueroa, V., J. López-Bonilla, R. López-Vázquez and S. Vidal-Beltrán, 2018. On Stirling numbers, World Scientific News, 98: 228-232.
4. Roman, S., 2005. The umbral calculus, Dover, New York.
5. Delgado-Pérez, J., J. López-Bonilla and S. Vidal-Beltrán, 2018. Akiyama-Tanigawa's identity for Stirling numbers, African J. Basic & Appl. Sci., 10(4): 84-85.
6. Akiyama, S. and Y. Tanigawa, 2001. Multiple zeta values at non-positive integers, Ramanujan Journal, 5(4): 327-351.
7. Srivastava, H.M. and J. Choi, 2012. Zeta and q-zeta functions and associated series and integrals, Elsevier, London.